Cetka(1l,1) Crpanvua 1 u3 16




LCeTKa (1,2)

CTpanvua 2 n3 16 /




WDS*WDS



LCeTKa (1,4) CTpanvua 4 n3 16



Cetka(2,1) CTpanuua 513 16




LCeTKa(Z, 2)

CTpanuvua 6 n3 16




LCeTKa(ZJ)

CT/paHmua 7u316




*}Ceﬂ(a (2,4) Ctpanvua 8 n3 16



Cetka(3,1) Ctpanvua 9 u3 16




j\)CeTKa(3,2)

Crpanvua 10 u3 16




LCeTKa(3,3)

Ctpanvua 11 u3 16




j\)CeTKa (3,4) CtpaHuua 12 n3 16



Cetka(4,1) Crpanvua 13 u3 16




Cetka(4,2) CrpaHvua 14 13 16 -b‘




j\)CeTKa(4,3)

Crpanuvua 15u3 16




j\)CeTKa (4,4) Ctpanvua 16 u3 16



